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Chapter 7 Methods of Integration
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Find the area ot the unbounded region between the x-anis and

the curve
5

yo= — Y forx>6
(x —4)°

Find the area of the unbounded region between the x-axis and

the curve
5

y= —— for x<2
(x — 4

The total amount of radioactive material present in the atmo-
sphere at time T s modeled by

A = Pe ™ dt

where P ois a constant and 1 is the number of years. Sup-
pose a4 recent United Nations publication indicates that. at the
present time, » = 0.002 and P = 200 millirads. Estimate the
total future buildup of radioactive material in the atmosphere
il these values remain constant.

50. Suppose that an ol well produces Piri thousand barreh, ()
crude oil per month according to the formula

Pt = 100797 — 100
where ¢ i the number of months the well has been in py.

duction. What iy the otal amount of oil produced by the o
well?

SLoLet fixi=< for =1 < x < |
e for x < —1
Sketch the graph of /7 and evaluate
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find the valuc of the integral when it exists,
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Find all values of p for which J

1
L . dx )
. Find all values of p for which J —— converges. and find the
o X
value of the iategral when it exists.
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find the value of the mtegral when it exists.
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55. Counterexample Problem Discuss the calculation
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Is the calculation correct? Explain.

56. Journal Problem Collcve Mathemarics Jownal wm Peter Lind-
strom of North Lake College in Irving, Texas, had a student
who handled an /2 form as follows:
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What is wrong, it anything, with this student’s solution?

57. Find f(xjdx. where

1 .
— for 0 < x< |
fro =4 VY
e — for I << x <2
Q/(.\ -

58. Evaluate the improper polar integral
Ji
59. Find the total arca between the spirals = ¢ =" and r =@

tor ¢ > 0.
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